MATH-8 TEST Unit 2
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This test is in two parts. On part one, you may not use a calculator; on part two, a (Ifon-graj#iing) calculdtor is
necessary. When you complete part one, you turn it in and get part two. Once you have turned in part one, you may
not go back to it. You will show all work on the test paper, no scratch paper is allowed.

PART ONE - NO CALCULATORS ALLOWED

(1) Find the following Trig Values, exactly (2 points each)

—5|-— sin(Szr /6) = 2 tan(27 / 3) = -G

"Y

£ -5

cos(7m/4)= tan(—m/6) =

=

cos(0) = ¢ sec(2m/3)=

=

urdehac-! sin(77/6)= &~

cot(3r) =

G

cos(zw/6)= '{ cse(w/2)= '
-2
cos(13z/4)= o sin(27) = O
(2) Use the figure to (1 points each)

(a) approximate the value of  sin 2.75 _® 3 7 cos 0.5 __g_ﬁ___

. 175 [1.50
(b) find a value of t such that cost ~ 0.2 2.00 o125
08+ 0.75
2.50 osl
5 75 ‘5 ‘ 0.50
, _ . - 275 04l
(c) find a value of t such that sint ~ -0.6 025
3.00 02+
395 -ois-ofe-oh-ofgz 02 04 06 08 | 12
3.50 —04-+ 6.00
575

3.75 Y
4.00 -08 5.50
425 +— 525

450 (475 500




(2) Solve the following equations for the given restriction on t. (If no restriction is given, find all solutions)

1
(a) Solve: cos(t)= 5 for 0<t<2m

(c) Solve: tan(z)= _?3

N
N
| (d) Solve: cot(r)=-1 for _§St<%
N
L/ et et—tet—tet

—"{ o % o Ztt

(e) Solve: cos(t)=0 for 0<t<2rm

D

- 5'11- (4 points each)
t= 3 3

-
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This test is in two parts. On part one, you may not use a calculator; on part two, a (non-graghing) caiculator is

necessary. When you complete part one, you turn it in and get part two. Once you have turned in part one, you may
not go back to it. You will show all work on the test paper, no scratch paper is allowed.

PART ONE - NO CALCULATORS ALLOWED

(1) Find the following Trig Values, exactly (2 points each) -\ z

cos(5z/6)= B V; / 2 tan(—m /6) = 3

~Vz/, ~\V3

sin(7z/4)= tan(27/3) =
sin=_ O sec(27 /3) = A
—V3
tan(37) = O cos(7m/6)= <
—
sec(rw/6)= V3 csc(m/2)= ’
—\z
a——
sin(137/4)= & sin(27) = S
(2) Use the figure to (1 points each)
(a) approximate the value of  sin0.25__ O .2 cos5.75 __ Q-
. 175 [1.50
(b) find a value of t such that cost ~ -0.6 2.00 125
205 % | NDOO%
2.50 '
\ 5 06T 0.50
(c) find a value of t such that sint ~ 0.8 J 2. 2—5 ' 1
3.00 0.27
325 T-08-05-04-02 |
3.50 ~04-
375 ~067
4.00 ~087




(2) Solve the following equations for the given restriction on t. (If no restriction is given, find all solutions)

(4 points each)
1 t= i @I
(@) Solve: sin(1)=— for 0<t <27 — (oj A

_@_

(b) Solve: cos(t) = —73 for 0<t<2xm

_@_

(c) Solve: tan(z)= -3

il
3_/0'\_
S,
(@) Soﬁe: sin(t)z—g for —zsmg 6: \14?

1 -1r 51r
__/\ | 1 A q R 3‘
\:Olb_ < 3‘;‘5 % '*rai‘ n”

(e) Solve: csc(t)=—-2 for 0<t<2rm

/T sink)=-
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NAME:

MATH 8
PART TWO - CALCULATORS ALLOWED (non-graphing)
Show your work on this paper. EXACT answers are expected unless otherwise specified. Show scales on
graphs and label highs and lows. Give units in answers when appropriate.
Fill in the blanks. (2 points each)

(1) Trueor False: cos(#) = cos(—t) Trde COSINT > o tven 'FUMOA

[~ S0) 4—Nole 2 Porenthess ac Use
’ weth oo

(2) What is the domain of  f(¢) = sin(z)?
(3) The reciprocal function for  f(¢) =sin(¢) is g(¢)= Qﬁdt )

(4) Trueor False: Therange of f(¢)=tan(z) is [—1,1] EQ Lsg Rem s (-09?9)
2

(5) What is the period of f(t):cosE;,rt]? g Q‘W— :Zﬂ =2
K 323a _3

(6) Using your calculator, find approximations for the following, rounded to 2 decimal places. ( 1 point each)

(a) sin(ﬂ/lO)z°—3l (b) sec(6)zM (c) > m

tan(3)+1 -
€ Use Calc to/{"(/‘
memony

>4
(7). Sketch the following graph. (clearly show scale, graph at least TWO periods, If there are any
asymptotes, label them clearly. f'(x)= tan(4x) (6 points )
/, 1 0 -
R4
T IS / Yo LS '%
?erodaz 'ﬂ'(__‘-r- :2-— denom=-—o0 =
=0
= SIn{ax) Cos@x)
g bote fen(4H = S04 )
AN e Cos(4hR) “4x = %‘; ?) .

=1
x g/ ng”'.



(10 points)

(8) Suppose the displacement of a mass suspended by a spring is modeled by

y= =5 Sin(n't) (where y is measured in inches, time in seconds)

a) Find the amplitude, period and frequency of the motion.

59

c) Describe how the motion changes if the system is modeled by y = SCos(m)

In port @), tve motion begins from r‘eshr;a) |
posithion. Here +He Mmass |s compressadt o=

g h point and relecsel Fromthere .

. 3
(9) Given sin(¢) =—— , with ¢ in Quadrant lIl, find:

5 —+/s
(a) cos(t) =

STt Hsintt =l

cot=~smt=1-(2)

= \p
C.OSIt =
wst =t Y% @

(2 points each)

>/,
(o) Han(r) 4

“Fon t)=alt )
Cos ¢

Review Stmp lneyl'ry

COMP'C‘K froctiong

(10) Given tan(z) =4 and sin(z) > Qin, find QI

Vi=

(a) sec(t) =
5&(_7'-&‘;' +‘|anl"t
Sett =1+

sect=%Viy
se)=viy

(2 points each)

(
o C8Y)

reciprocod




(11) Sketch the following graph. (clearly show scale, graph at least one period, label coordinates of
( 8 points)

perto=

highs and lows)

~

f(X)=1cOS(%x+%’) = -'L(bs(‘é’ (x+ 3‘_1'1'))

<W _

—

Vo

AMV lla"llcb = =2

Shdt ’4':[ Gt

Scale

(L

C

q-r

A {
N

Z-2)

N

(12) Find an equation corresponding the graph below. SHOW check for a point. (7 points)

Chedd a. point ( %‘; 2) , e
52501 (398 -T) (=4 Y=%nEa=t)
=25n[%) VR NEER iR €
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